
start

Initialise model
variables.

t ← 0

All SUs make
measurement un.

l ← 0

UTUs send all
reports (ym) to TUs.

for k in Nt:
TU k cumula-

tively broadcasts
its UTU reports
to the next TU.

l ← l + 1

for k in Nt:
TU k computes
the messages.

for k in Nt:
TU k computes and
sends the belief up-
date to the next TU.

l == η?

for k in Nt:
TU k sends final belief
b(H) to the next TU.

All TUs compute Ĥ.

t ← t + 1

t ≤ Tl + 1?

Store predictions and

reports in Ĥ
(t−1)

and
Y(t−1) respectively.

Replace Ĥ(t−Tl−2)

and y(t−Tl−2)

with Ĥ(t−1) and
y(t−1) respectively.

Update Gs with
new information.

no
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yes no


